Maths worksheet -2

Q.1 Fill in the blanks.

A) Largest 5 —digit number is
B) 99,999 is the predecessor of
C) Predecessor of 14,584 is

Q. 2 Expanded form.

A) 53,464-

B) 78,963-

Q. 3 Write the standard form for the following.
A) 4x10,000+2x1000+5x10
B) 6x1,00,000+5x100
Q. 4 Find out the greatest number formed by using digits. 4,0,9,2and 7.
Q. 5 Arrange in ascending order
- 34343,43435,44433,34443,43334
Q. 6 Arrange in the descending order.
- 28056,85263,45632,23658,14896
Q. 7 Write the number names of the given numbers.
A) 75,806
B) 97,003
Q. 8 Write the numeral for the following number names.
A) seven lakhs thirty five thousand six.

B) Twenty five lakhs seven hundred.



